
PART-A WÃJÁ* ñ ÷

I.   Answer any TWO questions. 5 marks each.	 2x5=10
      ≈R@*Ï|J|*]*• ÷]*¶*l Ó*”¿xøÁ*DÁx 'd*wy∏. d*#J 5 "h¡*Á*\*l.

	 1.	 Explain any five formula used in MS-Excel.	
		  ÷h.÷©B. ÷¡x§#B*Âr 'Ó*>•…e©*l@* ∞|*l ©*•d*”Á*\**lø W@*y∏.

	 2.	 State the MS Word shortcut keys for the following:
		  ÷h.÷©B @*¶Bv* ‡…Á*\**lø Ë]x›ly.

		  Close a document
	 	 New document
	 	 Justification
	 	 Right Alignment
	 	 Bold Text

	 3.	 What are the types of information ?  
		  WWæ* Õ*RØœÁ*\J@*Ï@*Ï ?

	 4.	 Write a program in 'C' to find simple interest and total amount.
		  ©*]*\* ËfT Õ*ld*lw nÛlÀ Õx•d*w ¡*h¶*lØf≈ll@* nh|*l ¡J≈lv WæJ*@**lø 'C' *Âr Ë]x›ly.
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Instructions ©*•Ì*xÁ*\*l:	1.	 Students who have attended 30 marks Internal Assessment 
Scheme will have to answer for total of 70 marks.

		  30 "h¡*Á*\* ∂hd*y¡* Ó*|*—œ≈lÂr Ë]x|* W|JCÖvÁ*\*l 70 "h¡*Á*\* Ó*”¿xøÁ*DÁx 
'd*wy©*l@*Ï|*l.

	 2.	 Students who have attended 20 marks Internal Assessment 
Scheme will have to answer for total of 80 marks.

		  20 "h¡*Á*\* ∂hd*y¡* Ó*|*—œ≈lÂr Ë]x|* W|JCÖvÁ*\*l 80 "h¡*Á*\* Ó*”¿xøÁ*DÁx 
'd*wy©*l@*Ï|*l.

	 3.	 Note: Question No. 14 or 15 Section D is compulsory for 80 
marks scheme only.

		  80 "h¡*Á*\* ∏Ú…h*@*yÁx WÃJÁ* f*Âr]*l@* Ó*”¿xø ©*hÿxC 14 "≤*@J 15 ¡*¶JT≈l.



PART-B WÃJÁ* ñ b

II.   Answer any THREE questions. 10 marks each.	 3x10=30
      ≈R@*Ï|J|*]*• Õ*l•]*l Ó*”¿xøÁ*DÁx 'd*wy∏. d*#J 10 "h¡*Á*\*l.	          

5.	 Explain different stages of system development life cycle.	
	 Ó*|*—œ "à@*˝˘— Ê…@** Ì*¡*”|* WWæ* A*hd*Á*\**lø W@*y∏. 

6.	 Explain different generations of computers.	
	 WWæ* Á*‚¡* d*#xÕ*R]*lÁ*\**lø W@*y∏.

7.	 What is office information system ?  What are major components of office information 
system ?  Explain.

	 ¡*∫x…y Õ*RØœ Ó*|*—œ ÷h|*]x…*l ?  $|*]* Ó*”Õ*llV "hÁ*Á*\*l ≈R@*Ï@*Ï ? W@*y∏.

8.	 a.	 Write a program in 'C' to generate natural numbers from 1 to 100.
		  1 yh|* 100 @*]xÁx ©J“ÃJW¡* ©*hÿxC Õ*ll˘”©*l@* ¡J≈lv ë∏í*Âr Ë]x›ly.

	 b.	 Write a program in 'C' to find largest among three numbers.
		  Õ*l•]*l ©*hÿxC≈lÂr |x•¶*T ©*hÿxC ¡*h¶*l Øf≈lml ë∏í*Âr ¡J≈lv WæJ*@**lø Ë]x›ly.

9.	 Write a MS Excel format find employees salary according to the following:	
	 ÷h.÷©B. ÷¡x§#B*Âr & ¡x\*¡*h¶* ®x…ËÂrÁx F¡*]*]* Õ*l•m @x…d**@**lø ¡*h¶*lØf›ly.

		  A	 B	 C	 D	 E	 F	 G	 H	 I	 J	 K
	 1	 Name	 Basic	 HRA	 DA	 CCA	 PF	 IT	 LIC	 Gross	 Dedu-	 Net
	 	 	 Salary	 	 	 	 	 	 	 Salary	 ction	 Salary
	 2	 Ananda	 12000
	 3	 Santhosh	 9000
	 4	 Usha 	 8500

		  a.	 Calculate HRA is 12% of Basic Salary
			   Õ*lx ßJfÁx Ã*dxC Õ*l•m @x…d**|* ¿x….12

		  b.	 Calculate DA is 35% of Basic salary
			   ˘*Ã*dxC Õ*l•m@x…d**|* ¿x….35

	 	 c.	 Calculate CCA is 4% of Basic salary
			   *Á*]* Ã*dxC Õ*l•m@x…d**|* ¿x….4

	 	 d.	 Calculate PF is 5% of Basic salary
			   Ã*W±*C ıÜ Õ*l•m @x…d**|* ¿x….5

		  e.	 Calculate IT is 8% of Basic salary
			   ∂|J≈l dxyÁx Õ*l•m@x…d**|* ¿x….8

		  f.	 Calculate LIC is 5% of Basic salary
			   Ê…@*WÕ*R Õ*l•m@x…d**|* ¿x….5

		  g.	 Calculate Gross salary, Deduction and Net salary
			   ÁJ”©B, nÛlÀ ¡*fd* Õ*ld*lw ı@*“\* @x…d**@**lø ¡*h¶*lØf›ly
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PART-C  WÃJÁ* ñ ∏

III.   Answer any TWO questions. 15 marks each.	 2x15=30
         ≈R@*Ï|J|*]*• ÷]*¶*l Ó*”¿xøÁ*DÁx 'd*wy∏y. d*#J 15 "h¡*Á*\*l.	

	 10.	 Draw a neat block diagram of digital computer and explain its functional units.
		  fÊÛ#B ¡*hÓ*˙CÛ]B* "h|*@J|* Ùd*” Ë]x|*l "|*]* ÃJÁ*Á*\**lø W@*y∏y.

	 11.	 a.	 Explain Random Access Memory (RAM).
			   ]JCÕ*XB ÕxlÕx•…y≈l*lø W@*y∏.

		  b.	 Describe the important features of MS-Word.
			   ÷h.÷©B. @*¶Bv* Õ*llVC m¡*<‚Á*\* nh|*l Ó*fiÀ≈l*lø Ë]x›ly.

	 12.	 Explain formatting tool bar options in MS-Word.	
		  ÷h.÷©B. @*¶Bv* MJ]*Õxl…fihÁB Û•#BßJy* ©*•Ì*¡*Á*\**lø W@*y∏.

	 13.	 Explain file management systems and methods of file organisation.
		  ¡*¶*d* ı@*vA*Ix≈l*lø W@*y∏ Õ*ld*lw "|*]* WæJ*Á*\**lø W@*y∏. 

PART-D  WÃJÁ* ñ f

Note: Compulsory question for 80 marks scheme.
©*•Ì*x: 80 "h¡*Á*\* Ó*”¿xøÓ*œ”¡xÁx $]*l@* ¡*¶JT≈l Ó*”¿xøÁ*\*l.

IV.	 Answer any ONE questions.   10 Marks each.	 1x10=10
	 ≈R@*Ï|J|*]*• nh|*l Ó*”¿xøÁx 'd*wy∏y.  10 "h¡*Á*\*l.

	 14.	 a.	 Write a program in 'C' to find factorial of a given number.
			   "Ó*@*≤*v*@**lø Õ*ll˘”©*l@* nh|*l ¡J≈lv WæJ*@**lø ë∏í*Âr Ë]x›ly. 

		  b.	 Write a 'C' program to find if two numbers are equal.
			   ÷]*¶*l ©*hÿxC ©*Õ*l@x… ÷h|*l ¡*h¶*lØf≈lml ë∏í*Âr ¡J≈lv WæJ*@**lø Ë]x›ly.

	 15.	 Write a neat diagram of MS word screen layout and briefly explain its tool bars.
		  ÷h.÷©B. @*¶Bv* "h|*@J|* Ùd*” Ë]x|*l "|*]* Û•#B ßJ]BÁ*\**lø W@*y∏.
 

* * *
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